s W oK Four x

. weite Ve desiced answer unit(s) on Yhe lef4
L. Enter 0. Conversion factor Yhat containy ¥ne desired gnswer vnﬂ(s)
3. Enktr the 35\10-0 alua.n'l'-;{'q and units to be converted b the !ricdh'l-.

EXQmp\e_'. Conuert 3"\3 ‘o \’\%.
\. wrike deldired uniy on lefd

V\q <
2. Enter Cor\uusmr\ factor se that desired answer is at the +oo
KC\\J N | \(3

| 000 g
J

3. Enter the 3§\mn <:.luqr\-l—i4—11 on +he ri:}H-
Kq= | Ka e 31 9

J D

1000 o l

J
4. Complete the muldiplication bj muld oluma 5'|'ral\7h‘|' Oross,

Kq= I Kq 3'19’ = 31 Kkq =003'7q
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Kile wecto deco Base deci centi milli micre

\/W3
\. ordeyed 0.Wgq PO do.';\\s . How mamj tablels
on hand 1 ©00 mg

O-Lg= OO0 mqg 0.(e©O0® = | taplet
A) J —

when measuring \iquids, the prder will Stave f\ Yo give but You
wWILL \gue *o measure the doSQQﬁ In @

e

Example: Dvuq states 14S vnit dosqqe iS (00 mg per 2ml that meangs cvery
2 mL of Fluld in_+he bottle has |00 mq_of Medncme cleso\ved in it.

Example, 2:
ordered . B\ruq A 350 mgy dai lq Dose contentration’ 250 mq per 5mlL
EstimaXon: 5 mL font going h: be cnough. (onlu 250 mg , We need 35{3 mq\
1¥ we dovble it 4 10 ml +han Wt have +o double +o Soo mg. /Tha{s o much\
30.. qoed estimation (5 more than Sml but |ess than lo mL

Oral S\ringed: 3ImL 4o 5 ml
medicine CupS't 30 mL
medicahon copd have (alibration markings at LuLry SmL

ordered: diphtn\w‘drqm"nt ora\ 3o\ution 1\9 mq po every ns
How many mL do you c.UNe ?

facts : lz.Smg=5mL
L = m ‘Sm = —|5 = m L

ee———— D —

dose 12.5 Mg dose 12.9




ordeved’ Augmentin Susp 500 mg pa 4 Fimes & day
on hand" PW3mgn-Hn Svsp 250 Mo , SmL

mL = S mUL i 500 mg = a500mMmL_. = YO mL_ per dose
aose 250 «\3 dose AS0

OTC\Q(QA'. \'-H\ium C.\'\'fa"’e. LO m€c1 Po 'L\A
on hand: lithivm (idraie 8 MEq / dml
How much would Ldou 33\)&, Hne PocHg.n‘f?

ML = SMLX b mE€q = 3omL = 315 mL = 3.8 mL
dose B mEq 00s¢e 8

ordered’. Porassiumn chloride 25 mEq po daily.
on hand’ 4o mEcjl 1S mL
How many mL do You g’\ve? Round + the tenth.

mL = 9 mL % 19 mEq = 319 mL =9 FSsmlL = 94 mL
dose Ho mEq dose Ho

ﬂ\omj with (’.S-\w'ma"'%nq olose$) Ver'«-Fnj‘ms Safe dose ranges (SDR> Fov
medicohons is another -}echhique that protects patients gad nurses from

medication dose calculafon errors.



. )
Y, Decision:

x Hold e medication and contact He prcSCr—'nber " Mae order is not
wihin e  SDR 4 Srca‘b\e,ﬂcx.s,

¥ Give Yae medication because +ne srder 15 within +he SDR and Freg.

E\Lo.mp\e '
ordered . Druq Y) 550 mg|gleh|™ 1000 mq = | g
SDR: 15- 30 mo per Kg per day n |4 doses 2.2 o= Kq
Pat ants Waiget |80 lb AY
Aval able Dryg Y, 0.59 +ab Freq madtches

3) wa 3\!\* n KS
\Aa = \\/\q v \B0 W = \80 <= 8.8 Ka
2

J ~ p—

.2\ WQ:\SVH A

/

‘0) ODR low and h'lgh dose based on wa;lgh’r

Low -
Mg = 15 mg w 8l.8X§ = 2,045 = 1,045 mg per day
douj \/dea_gj \ day
‘(1'13\"\'.
- 20m . B = M
day, YA % day \
) 7 J

C\} da‘\\uj dose ordeve d

566 g ¥ Y4 deses a dcus = 2900 Mg per dQLj

6,5 \S the erder Safe ?

Low? 2,045 mg "\ 2,200 mg_ordered Nes W15 Safe,
“\q\n‘. 'L,L‘SL* \\aVe
v J

£ ill e 7

ML = 27mL ., SO B = V6o ml. = 22 ml oer Aose.
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dose 50 me Aose. 50

Exercise |-
ordered: Drug \, 200 tq bid|for o child that weigh$ (s0 pounds.
SPR: 5-10 mq per dmﬂ in[2-3 | divided doses. 003%9¢ ‘makches
Round +o 1 decimal place as needed.

\‘\E\!'. ..\ = |\ Kq

33 what is the childs we.is.)H in \<il03rams ?

\’\3: \ wa V] Lo W = LO kg = 1L71.73 \k%
1.1\ \ 1.0 N,
N
0) what is ¥he min SDR for ¥his child 2 — 3
Low mg = ‘Sm% X 1L71.3% y/% = 13L. 9 ma Pe:— dose 7 E >
oy [dose | Wel X doy \ > O
A VR s 770 ") \ _\'
‘QQ"
(Q)what 15 +he may SOR Sor hnis child? )
Max * ™o = |I0mqg v 1213 xg T 213 mg per dose /
) —J N J J ) S
dose \(3xc\o¢j \

C\\ whot 5 the doswe or dered per dau
Joo mq per dose Yid (L Smes do.?'\tﬂ
AOOmg Y & = HoO mg d&lllj,

&) \s ¥ne drdeved dese Safe 2 ordered ' 100 mg per day
SOR = 5-10 mq per doy n A&~ 3 divided dosed
Low= |13l. 5 mg per day
High= 373 mg per day
“No +his i5 NoT SAFE
£)1§ fne order 15 Safe, Niow many Fads wovid you admini rer 7
Z€Ro - order iS5 NoT sarc !
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ordered: ylenol

0-5% qLo\r\

Lq

1imeS

KC\,’I B

2.0\p = | Kg

SDR". (6-154 Mg per

qlah J — watch

\000 Mg = |
J J

patient W Shs: 4

Ka
J

qlh = 4y in 24 hrs (1day)

3\ what 15 Pne wu %YH' in \(g\J?

1Y \<°J‘ (\cs'\\ren Yo us in deScrip-Hon\l

b\} what 19 Yhe JSOR ?

LOW B Mo < \0

= Quo Mg per c\a\g

—_—

—

day W,

4
\
q

|
Hic}‘ﬂ‘- Mg = \S mo y 3‘4){/

J

= I4Y4yo mg per da\!

do.q P

IA) L LAY

c\ what 15 thwe do Saqe per day in mQ

0.5 ¢ ‘~lo.olaq~
J J

3o per dau
J v N

Mma = 1000 mqg
J N

= 3000 mg per day

1a
p— _’-J——
\

N)

\q
)

d) \s the ordered cdosage within DR ?

ordered ' 0-53\ 9l h

= 4000 mq day
3

Low. 260 mg per day

High'. 1440 mgq per day
J I J

order: Drug X 50 mg

qth

w[ora pationt thal weiqhs 2.1 kg

DR: 3-71 ma per day in
I 3

Y-l

dwlc\ed doses

N)
¥imes mak ey

What i5 $he Safe Dosage Range 2

Low: mgq = 3 mg y 11.7K4 = 418.1 mq per cay
dcuj \,Sé_\,x c\m.Ju \
Hiah' mqg = 1 mgq . 1.1 ¥4 = 508.9 mqg per day
J J R - ).S 77 J J

—

day \5/03 X c\mj
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